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Quiz Date: 21st October 2020 
 
Directions (1-5): Study the information carefully and answer the questions given 
below. 
Six friends P, Q, R, S, T and U are from different places of India i.e. Manali, Dharamshala, 
Leh, Jaipur, Agra and Darjeeling. They all are planning to go on ride through different bikes 
i.e. Hero, Suzuki, Honda, Java, Bmw and Ktm. All information is not necessarily in same 
order. 
R rides Java and he is from Manali. The one who rides Suzuki is not from Jaipur and Leh. P 
is from Darjeeling. The one who is from Agra rides hero. T rides Ktm. The one who is from 
Leh doesn’t ride ktm. U isn’t from Leh. P doesn’t ride Bmw and Suzuki. S is not from leh and 
Dharamshala. 
 
Q1. Who among the following is from Agra?  
(a) P 
(b) T 
(c) S 
(d) R 
(e) None of these 
 
Q2. T belongs to which of the following place?  
(a) Jaipur 
(b) Manali 
(c) leh 
(d) Dharamshala 
(e) None of these 
 
Q3. Q rides on which of the following bikes? 
(a) Hero 
(b) Bmw 
(c) Java 
(d) Suzuki 
(e) None of these 
 
Q4. Which of the following statement is true? 
(a) Q- Darjeeling 
(b) T- Agra 
(c) U-Dharamshala 
(d) S-Jaipur 
(e) None of these 
 
Q5. P rides on which of the following bikes? 
(a) Bmw 
(b) Honda 
(c) Hero 
(d) Ktm 
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(e) None of these 
 
Directions (6-8): In each of the questions given below some statements are followed 
by some conclusions. You have to take the given statements to be true even if they 
seem to be at variance from commonly known facts. Read all the conclusions and 
then decide which of the given conclusions logically follows from the given 
statements disregarding commonly known facts. 
Q6. Statements:  
Some rock is stone. 
All stone is wood. 
Only few Marble are rock. 
Conclusions:  
I. Some rock is wood. 
II. Some wood is marble. 
III. No marble is stone. 
(a) Only II is true 
(b) Only I is true 
(c)  Only III is true 
(d) Both I and III is true 
(e) None of these 
 
Q7. Statements:  
All mountain are hill. 
Only few mountain is desert. 
No beach is mountain. 
Conclusions:  
I. Some beach is hill is a possibility. 
II. All hill is desert is a possibility. 
III. No desert is hill. 
(a) Only I is true 
(b) Both I and II is true 
(c) Only II is true 
(d) Both II and III is true  
(e) None of these 
 
Q8. Statements:  
Some silver is gold. 
Some gold is violet. 
No metal is gold. 
Conclusions:  
I. No violet is metal. 
II. Some silver is not metal. 
III. Some violet is not silver. 
(a) Both I and II is true 
(b) Only I is true 
(c) Only II is true 
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(d) Only III is true 
(e) None true 
 
Directions (9-10): Study the following information carefully and answer the 
questions given below: 
In a certain code language  
‘rain future team’ is written as ‘mn vo na’, 
‘strong ring home’ is written as ‘sa ra ta’,  
‘team ring inquiry’ is written as ‘la vo sa’,  
‘Anger Healthy rain’ is written as ‘mn ha ja’. 
 
Q9. What is the code for ‘Inquiry’? 
(a) ja 
(b) ha 
(c) la 
(d) na 
(e) None of these 
 
Q10. Which of the following may be the code for ‘Healthy Home’? 
(a) ha ra 
(b) ra ta  
(c) ja ha  
(d) Either (a) or (c) 
(e) None of these 
 
Directions (11-14): Study the information carefully and answer the questions given 
below. 
There are seven persons in the family in three generation. S is daughter of G. E is mother of 
law of G. M is brother of P.  E is sister in law of R. P is aunt of S. N is married. G is a married 
woman.  
 
Q11. How is R related to E? 
(a) Sister in law 
(b) Brother 
(c) Brother in law 
(d) Son 
(e) Can’t be determined 
 
Q12. How is N related to S? 
(a) Grandmother 
(b) Mother 
(c) Grandfather 
(d) Brother 
(e) None of these 
 
Q13. How is S related to M? 
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(a) Son 
(b) Son in law 
(c) Daughter 
(d) Brother 
(e) None of these 
 
Q14. How is M related to R? 
(a) Son 
(b) Niece 
(c) Brother 
(d) Sister 
(e) Nephew 
 
Q15. Which of the following will be definitely not true if the given expression 
T≥Y>I≥F<G>V>B=M>R is definitely true? 
(a) T>F                          
(b) Y>F         
(c) F<G 
(d) V>R 
(e) F<I 

 
 

Solutions 
 

Solution (1-5): 
Sol. 

Week Person  Car 
Monday P Venue 
Tuesday K Baleno  
Wednesday N  Amaze 
Thursday  J  SX4 
Friday M Swift 
Saturday O Figo 
Sunday L Tiago 

S1. Ans (a) 
S2. Ans (e) 
S3. Ans (d) 
S4. Ans (e) 
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S5. Ans (d) 
 
Solutions (6-10): 
Sol.  

 
S6.Ans (a) 
S7.Ans (e) 
S8.Ans (d) 
S9.Ans (d) 
S10.Ans(c) 
 
Solutions (11-14): 
Sol. 

 
S11.Ans(c) 
S12.Ans(c) 
S13.Ans (e) 
S14.Ans (b) 
 
S15. Ans(c) 
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